
Mahdollisesti hyödyllisiä tietoja / potentially useful information

kB = 1.3805 × 10−23 J/K , R = kBNA = 8.3143 J/(mol K) , NA = 6.022 × 1023 1/mol
kB × 11600 K ≈ 1 eV , 0 °C = 273.15 K , 1 atm = 1.013 × 105 Pa , g = 9.82 m/s2 , c = 2.998 × 108 m/s
� = 1.054 × 10−34 Js , 1 J = 1.602 × 10−19 eV , mec2 = 511 keV 1u = 1.66 × 10−27 kg

dU = δQ + δW
rev.= TdS − PdV , dU = TdS − PdV + µdN

F = U − TS , G = U − TS + PV , H = U + PV , Ω = U − TS − µN = −PV
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(f − f0) , ṙ = v , ṗ = F
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= 0 and f = f0 + f � and f � � f0, thenf � ≈ −τ(ṙ · ∇f0 + ṗ · ∇pf0)


